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Name: ID number:
Time: 1 hour Math 204 8/04/06
QuizIl

Second Semester 05/06
Instructor: Mrs. Muna Jurdak

Section 1 Thurs. 11:00 a.m. Section 2: Fri. 1:00 p.m.
Section 3: Thurs. 3:30 p.m. Section 4: Thurs. 2:00 p.m.
Instructions:

1. Write your name and ID number clearly where indicated.

2. Circle your section number above, according to the time of the problem solving
session in which you are enrolled.

3. Solve the problems on this, the white guestion sheet. Use the colored sheets
for scratch work only. You may use the back of a white sheet to compiete the
solution of a problem.

4. Give numerical answers correct to 2 decimal places.

5. Show your work in all the problems.

I 2 3 4 5 6 7 8 Total

/12 /10 10 /15 /8 17 /10 /18 /100
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(c)Use the chain rule to find 9 Lify=2 - ,and u =(x* - 3x + )",
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(®)1fg'(x)= = +2, g(1)=>5 and g(1) =9, find g(x).
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(10%) 3. The frequency distribution for a random variable X is given below.

X 1 2 3 6
Frequency 40 20 60 80

(a) Construct the probability distribution of X.
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(15%) 4. The time it takes a college freshman to complete a certain reasoning test is
normally distributed, with a mean of 25 minutes and standard deviation equal to 6

minutes,
(a)Find the probability that, a student chosen at random, will take between 10

and 20 minutes to finish the test.
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(b) Find the probability that, a student, chosen at random, will take between 5
and 45 minutes to finish the test.
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d 2 (c) Find the time 1; below which only 20% of the students take to
" finish the test.
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CHAPTER 14 PROBABILITY DISTRIBUTIONS

Area Under the Standard Normal Curve
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(8%) 5. A box contains 4 red balls and 6 white balls. An experiment consists of
drawing 5 balls at random from the box, with replacement. Find the probability that at
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(17%) 6. Of 120 students, 60 are studying French, 50 are studying Spanish,
studying both French and Spanish.
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(a)A student is chosen at random. Find the probability that: i -
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(ii) The student is studying exactly one of the two languages.
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(iii)The student is studying French, given that he is studying Spanish.
P(F/s) - plFns) = 2412 - 2/,
P (s) =/

(b) Let F be the event that the student is studying French, and S be the event
that the student is studying Spanish. Are F and 5 statistically independent events?
Give a clear reason for your answer.
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(10%) 7. The scores on a quiz for a class of 40 students have a mean equal to 75 and
a standard deviation equal to 9. If the teacher decides to raise each student's grade

by 2 grades
(a) What will be the new mean (of the raised grades)? Justify your answer.
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(b} What will be the new standard deviation? Justify your answer.
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(18%) 8. A pair of dice, one red, one green, is rolled once. The random variable X
is the maximum of the 2 numbers obtained on the faces of the dice.
(a)If A is the event that X = 3, list the set of outcomes belonging to this event.
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(b) Find the probability that X < 3.
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(¢) Find the probability that X = 3.
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(d) Let A be the event that X = 3, B be the event that X is even, and C be the
event that X = 4.

(i)Are the events A, B and C mutually exclusive? Justify your answer.
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(i1) Are the events A, B and C collectively exhaustive? Justify your
answer,
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